
lzj/fh gu/kflnsfsf] sfof{no 
rGb|f}6f, slknj:t' 

rf}yf] gu/ kl/ifb\ åf/f :jLs[t gSzfkf; b:t"/  
 
 

s_ cf/=l;=l;= ePsf ejgdf -zxl/ If]q_    ldlt @)&#÷!)÷! b]vL nfu' 
ljj/0f sRrL / leqL af6f] gSzfkf; z'Ns k|lt ju{ 

kmL6sf] b/n] 
w/f}6L k|ltju{ lkm6sf] 

b/n] 
e"ldut tNnf M 

1000 ju{ lkm6 eGbf yf]/} 2.50 2.00 

1000 ju{ lkm6 eGbf w]/}  3.00 2.50 

e'OtNnf M 

1000 ju{lkm6 eGbf yf]/} 3.50 3.0 
1000 ju{lkm6 eGbf w]/} 4.0 3.50 
klxnf] tnf M   
1000 ju{lkm6 eGbf yf]/}  4.0 3.50 

1000 ju{lkm6 eGbf w]/} 4.50 4.0 

bf];|f] tnf M 
1000 ju{lkm6 eGbf yf]/}  4.50 4.0 

1000 ju{lkm6 eGbf w]/} 5.0 4.5.0 
t];|f] tnf M   
1000 ju{lkm6 eGbf yf]/}  5.0 5.0 
1000 ju{lkm6 eGbf w]/} 5.50 5.0 

rf}yf] tnf M 
1000 ju{lkm6 eGbf yf]/}  5.50 5.0 
1000 ju{lkm6 eGbf w]/} 6.0 5.0 

v_ cf/=l;=l;= ePsf ejgdf -u|fld0f If]q_ 
ljj/0f sRrL / leqL af6f] gSzf kf; z'Ns k|lt ju{ kmL6sf] 

 
w/f}6L k|ltju{ lkm6sf] 

 e"ldut tNnf M 
1000 ju{ lkm6 eGbf yf]/} 2 2.30 

1000 ju{ lkm6 eGbf w]/}  2.50 2.50 
e'OtNnf M 
1000 ju{lkm6 eGbf yf]/} 2.50 2.50 

1000 ju{lkm6 eGbf w]/} 3.25 3 
klxnf] tnf M   
1000 ju{lkm6 eGbf yf]/}  3.25 3 
1000 ju{lkm6 eGbf w]/} 2.75 3.50 

bf];|f] tnf M 
1000 ju{lkm6 eGbf yf]/}  3.75 3.50 

1000 ju{lkm6 eGbf w]/} 4 4.0 



t];|f] tnf M   
1000 ju{lkm6 eGbf yf]/}  4 4.0 

1000 ju{lkm6 eGbf w]/} 4.50 4.0 
rf}yf] tnf M 
1000 ju{lkm6 eGbf yf]/}  4.50 4.0 
1000 ju{lkm6 eGbf w]/} 5 4.0 

gS;f b/vf:t cfj]bg k':ts ?=!))).– 
 u_ cf/=;L=;L= afx]ssf ejgdf 

qm=;+= ljj/0f b:t'/ w/f}6L 
1. ŠofS6«L, sf/vfgf tyf uf]bfd 3/ k|lt ju{ km'6 ?=2.50 ?=1.00 

2. O{§f, 9'Ëf, Ans l;d]G6sf] ufx|f] l6g, 6fOn 5fgf k|lt 3/ ?=500.00  
3. O{§f, 9'Ëfsf] ufx|f] df6f]sf] hf]8fO{ l6g / 6fon 5fgf k|lt 3/ ?=500.00  
4. 6«;df l6gsf] 5fgf k|lt 3/ ?=500.00  
5. c:yfoL sRrL 3/ 6f6Ln] af/]sf] k|lt 3/ ?=200.00  

3_ ;a} k|sf/sf ejgdf 
qm=;+= ljj/0f b:t'/ w/f}6L 

1= 3/ dd{t Ohfht z'Ns k|lt ju{ k'm6 ?=!.)) cyjf .%) k};f -k|=j=lkm=dWo] 
j9L x'g cfpg]_ 

?=!.)) cyjf .%) 
k};f -k|=j=lkm=dWo] 

   2 jxfn lj6f}/L c:yfoL hldgdf 
Ohfht k|lt ju{ k'm6 

2.00 2.00 

ª_ ;+/rgf dd{t ;+Def/ k|of]hgsf nflu  
 

l;=g+= ljj/0f ?= 
! wf/f h8fg jf dd{t ug]{ jf 9n lgsf;sf] lglDt kSsL lkr ;8s sf6\g' kbf{ 
s lkr af6f] vlg kfOk h8fg ug{' kbf{ ;DalGwt 3/wlgn] a'emfpg' kg{] z'Ns M 1000.00 

v v8\~hf nufPsf] ;8sdf 300.00 

u u|fe]n tyf sRrL ;8sdf  200.00 

r_ b:t'/x?   
l;=g+= ljj/0f ?= 
1= lgdf{0f ;DkGg k|df0f kq b:t'/ 400.00 

2= k|fljlws k|ltj]bg b:t'/ 500.00 
 


